Khalid began by subtracting the number of apples at the beginning of

the day from the number of apples sold. The answer of 68 is then the

number of the apples delivered that day that were sold, so the answer
would come from 144 - 68 = 76.

Another way would be to add the number of apples at the beginning of
the day to the apples delivered: 239 + 144 = 383.

Then subtract the number sold from this total: 383 - 307 = 76

Alisha is correct: £18.35 + £5 - £7.99 - £13.49
Jack is incorrect: £7.99 + £13.49 - £18.35. He has
missed out the £5 pocket money and subtracted the
money in the purse from the amount spent.



